
Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

p1



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 0.0 br = 0



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 0.0 br = 0

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 9 > 5)
br++;
suma += 9;

}

return suma / br;

}

suma = 0.0 br = 0

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 9 > 5)
br++;
suma += 9;

}

return suma / br;

}

suma = 9.0 br = 1

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 9 > 5)
br++;
suma += 9;

}

return suma / br;

}

suma = 9.0 br = 1

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 9.0 br = 1

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 9.0 br = 1

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 9.0 br = 1

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 9.0 br = 1

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 9.0 br = 1

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 6 > 5)
br++;
suma += 6;

}

return suma / br;

}

suma = 9.0 br = 1

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 6 > 5)
br++;
suma += 6;

}

return suma / br;

}

suma = 15.0 br = 2

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 6 > 5)
br++;
suma += 6;

}

return suma / br;

}

suma = 15.0 br = 2

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 15.0 br = 2

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 15.0 br = 2

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 23.0 br = 3

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 23.0 br = 3

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 23.0 br = 3

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 5 > 5)
br++;
suma += 5;

}

return suma / br;

}

suma = 23.0 br = 3

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 5 > 5)
br++;
suma += 5;

}

return suma / br;

}

suma = 23.0 br = 3

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 5 > 5)
br++;
suma += 5;

}

return suma / br;

}

suma = 23.0 br = 3

p2



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 23.0 br = 3



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return 23.0 / 3;

}

suma = 23.0 br = 3



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return 7.666667;

}

suma = 23.0 br = 3



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (9 > 7.666667)

print(p1)
}



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (9 > 7.666667)

print(p1)
}



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (9 > 7.666667)

print(p1)
}

Output

p1



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (9 > 7.666667)

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

p1

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 0.0 br = 0

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 0.0 br = 0

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 9 > 5)
br++;
suma += 9;

}

return suma / br;

}

suma = 0.0 br = 0

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 9 > 5)
br++;
suma += 9;

}

return suma / br;

}

suma = 0.0 br = 0

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 9 > 5)
br++;
suma += 9;

}

return suma / br;

}

suma = 0.0 br = 0

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 0.0 br = 0

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == ALST && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 0.0 br = 0

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == ALST && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == ALST && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 6 > 5)
br++;
suma += 6;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 6 > 5)
br++;
suma += 6;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 6 > 5)
br++;
suma += 6;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == ALST && 5 > 5)
br++;
suma += 5;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == ALST && 5 > 5)
br++;
suma += 5;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == ALST && 5 > 5)
br++;
suma += >5;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 8.0 br = 1

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return 8.0 / 1;

}

suma = 8.0 br = 1

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return 8.0;

}

suma = 8.0 br = 1

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (8 > 8.0)

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (8 > 8.0)

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (8 > 8.0)

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

p1

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 0.0 br = 0

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 0.0 br = 0

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 9 > 5)
br++;
suma += 9;

}

return suma / br;

}

suma = 0.0 br = 0

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 9 > 5)
br++;
suma += 9;

}

return suma / br;

}

suma = 9.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 9 > 5)
br++;
suma += 9;

}

return suma / br;

}

suma = 9.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 9.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 9.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 9.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 9.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 9.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 6 > 5)
br++;
suma += 6;

}

return suma / br;

}

suma = 9.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 6 > 5)
br++;
suma += 6;

}

return suma / br;

}

suma = 15.0 br = 2

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 6 > 5)
br++;
suma += 6;

}

return suma / br;

}

suma = 15.0 br = 2

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 15.0 br = 2

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 15.0 br = 2

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 23.0 br = 3

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 23.0 br = 3

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 23.0 br = 3

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 5 > 5)
br++;
suma += 5;

}

return suma / br;

}

suma = 23.0 br = 3

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 5 > 5)
br++;
suma += 5;

}

return suma / br;

}

suma = 23.0 br = 3

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 5 > 5)
br++;
suma += 5;

}

return suma / br;

}

suma = 23.0 br = 3

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 23.0 br = 3

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return 23.0 / 3;

}

suma = 23.0 br = 3

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return 7.666667;

}

suma = 23.0 br = 3

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (6 > 7.666667)

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (6 > 7.666667)

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (6 > 7.666667)

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

p1

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 0.0 br = 0

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 0.0 br = 0

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 9 > 5)
br++;
suma += 9;

}

return suma / br;

}

suma = 0.0 br = 0

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 9 > 5)
br++;
suma += 9;

}

return suma / br;

}

suma = 9.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 9 > 5)
br++;
suma += 9;

}

return suma / br;

}

suma = 9.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 9.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 9.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 9.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 9.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 9.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 6 > 5)
br++;
suma += 6;

}

return suma / br;

}

suma = 9.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 6 > 5)
br++;
suma += 6;

}

return suma / br;

}

suma = 15.0 br = 2

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 6 > 5)
br++;
suma += 6;

}

return suma / br;

}

suma = 15.0 br = 2

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 15.0 br = 2

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 15.0 br = 2

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 23.0 br = 3

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == OS1 && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 23.0 br = 3

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 23.0 br = 3

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 5 > 5)
br++;
suma += 5;

}

return suma / br;

}

suma = 23.0 br = 3

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 5 > 5)
br++;
suma += 5;

}

return suma / br;

}

suma = 23.0 br = 3

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (OS1 == ALST && 5 > 5)
br++;
suma += 5;

}

return suma / br;

}

suma = 23.0 br = 3

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 23.0 br = 3

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return 23.0 / 3;

}

suma = 23.0 br = 3

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return 7.666667;

}

suma = 23.0 br = 3

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (8 > 7.666667)

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (8 > 7.666667)

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (8 > 7.666667)

print(p1)
}

Output

p1



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (6 > 7.666667)

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

p1

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 0.0 br = 0

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 0.0 br = 0

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 9 > 5)
br++;
suma += 9;

}

return suma / br;

}

suma = 0.0 br = 0

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 9 > 5)
br++;
suma += 9;

}

return suma / br;

}

suma = 0.0 br = 0

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 9 > 5)
br++;
suma += 9;

}

return suma / br;

}

suma = 0.0 br = 0

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 0.0 br = 0

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == ALST && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 0.0 br = 0

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == ALST && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == ALST && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 6 > 5)
br++;
suma += 6;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 6 > 5)
br++;
suma += 6;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 6 > 5)
br++;
suma += 6;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == OS1 && 8 > 5)
br++;
suma += 8;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == ALST && 5 > 5)
br++;
suma += 5;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == ALST && 5 > 5)
br++;
suma += 5;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (ALST == ALST && 5 > 5)
br++;
suma += 5;

}

return suma / br;

}

suma = 8.0 br = 1

p2

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}

suma = 8.0 br = 1

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return 8.0 / 1;

}

suma = 8.0 br = 1

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return 8.0;

}

suma = 8.0 br = 1

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (5 > 8.0)

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (5 > 8.0)

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

foreach p1 in Prijave {
if (5 > 8.0)

print(p1)
}

Output



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

OutputEND



Prijaveselect *
from Prijave p1

where p1.Ocena > (select AVG(p2.Ocena * 1.0)
from Prijave p2
where p1.Predmet = p2.Predmet
and p2.Ocena > 5

)

OutputEND

foreach p1 in Prijave {
if (p1.Ocena > AVG(p1, Prijave))

print(p1)
}

AVG(p1, Prijave){
float suma = 0.0;
int br = 0;
foreach p2 in Prijave {

if (p1.Predmet == p2.Predmet && p2.Ocena > 5)
br++;
suma += p2.Ocena;

}

return suma / br;

}


